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BATLIEEFR: 0—125mph (0—60m/s)
JBEhXE: 0.6mph (0.27m/s)

WrEEFRE: 0—100mph (0—50m/s)
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PulseCount (WS, 1, 1,0, 1, 0. 03998, 0. 27)

If WS <= 0.27 Then W5 = 0 &: POMNE

PulseCount (WS, 1,11, 0,1, 0. 03998, 0. 27)
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For MPS:

o
RPS =0.62537615* (VW MPS -0.27)-
V MPS = (Hz * .03997594) + 0.27-
Hz=RPS *40=(V-0.27)/0.039977.
RPM = 37.552569 * (V MPS - 0.27)-
V MPS = (RPM/37.522569) + 0.27 -

+
For MPH:«

+

RPS =0.27945 * (V MPH - 0.6)-
V MPH = (Hz * .08946144) + 0.6
Hz = RPS * 40

RPM =16.767 * (v MPH - 0.6)-
V MPH = (RPM/16.767) + 0.6 ¢
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(m/s ) MPS=(Hz* .03997594)+0.27.
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